
101. Match the following : 

Tech~ology Scientific Principles 

(a) Aeroplane 1. Newton's Law 

(b) Air Balloon 2. Bernoulli's Principle 

(c) Rocket 3. Law of thermodynamics 

(d) Steam Engine 4. Buoyant Force 

(a) (b) (c) (d) 

(A) 1 3 2 4 

(B) 3 1 4 2 

(C) 4 2 3 1 

./Jiff 2 4 1 3 

£w.Sa;6lioTL6tJlD~JD Gurr®~~a;: 

G:2Jrr~Gi.l~L.ut.b ~!J5lQS!lLI6i.J ~~~61.li.0 

(a) QSJ LO rr mt.b 1. .@l!:!>LL~Qr QSI~ 

(b) a;rri:Dw u~Qr 2. Guirmrr6151Giu ~~~61.lt.b 

(c) l)"rT.'i;Qa;L._ 3. G6l.luu @lLIB;a; QSI~ 

(d) ,lliiJ"rrQSJ G"r,lli~l)t.b 4. ~ u lLI rr 6liorl... QSl GG>8' 

(a) (b) (c) (d) 

(A) 1 3 2 4 

(B) 3 1 4 2 

(C) 4 2 3 1 

(D) 2 4 1 3 
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I 02 Auto 10ni 1t1 n of H 0 I • d to the format.Ion of 

(A) H 0 

(B) OH 

(C) H 

.JJl/f H 0 and OH 

(A) u;o 
(B) OH 

(C) JI+ 

(D) lf 30 + to!i>gMt.D OH 

103. Arrange the following in increasing order of their pll values: 

I. Human Blood . 
II. Stomach acid 

III. Pure water 

IV. Milk 

(A) II, III, IV and I (B) II, I, III and IV 

¢ II, IV, III and I (D) I, III, IV and II 

I. tom1~®®~ 

II. @61> IJ"U mu c!)l uSl Q)LD 

III. ~lU p,n-
IV. urrro 

(A) II, III, IV to!i>WJt.D I (B) II, I, III toJi>WJt.D IV 

(C) II, IV, III LDJDWJLD I (D) I, III, IV to!i>WJt.D II 
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104. Which one of the following bacterium has extensive usage in Genetic Engineering work in 
plants? 

(A) Clostridium septicum (B) Xanthomonas citri 

(C) Bacillus coagulens .Jlilf Agrobacterium tumefaciens 

(A) 8imrrffi>Lq-rllLq-UJtb Qa:u1.q-s;tii (B) Ga:.(i;G~rrGLDrroorrw 61L.cml) . 

(C) Gu61Q)row G.g;rrUJrr®ro6irrw (D) ~.SGl)rrurr8i~rflUJtii Ll!d>L.61Gu61UJrow 

105. Match the following : 

(a) Riboflavin 1. Vitamin Bs 

(b) Thiamine 2. Vitamin B2 

(c) Pyridoxine 3. Vitamin B12 

(d) Cyanocobalamine 4. Vitamin B1 

(a) (b) (c) (d) 

(A) 2 4 3 1 

(B) 2 3 4 1 

ij1f 2 4 1 3 

(D) 1 3 4 2 

£w8iB;QorL6l.IJD661JDu Qurr®~~e;: 

(a) iflGu rrt.51 Gm6l51ro 1. ~6l.IL.LL.6lm t.Sls 

(b) Q)~UJuSl~ 2. ~6l.ILLL.6lm t.Sl2 

(c) ~ U rfl LIT 8;<0n5l~ 3. ~6l.I L.LL.61 m t.Sl 12 

(d) ~a:UJGoorrGe;rrurrru~LDm 4. 6616l.ILLL.6lm t.Sl1 

(a) (b) (c) (d) 

(A) 2 4 3 1 

(B) 2 3 4 1 

(C) 2 4 1 3 

(D) 1 3 4 2 
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lOG \\ 1 h ndAn 

(B 1(1 L 

(C) Alcohohc fi rmcntnt1on 

(D) I act1c acid formentat1on 

l£ !D LO· LO l£ li>f6lruQ>rr &rurr6tb@11Qfo-riq.!b@>tb Gurr~6'l.Jrrm ~Q"lers;m UJrra>ru? 

(A) .$! m GTT l£8iITQ>Q)'1i51Qu 

0~) .$l11uQu a;wJi>6l 

(C) ~Q)e;~rrQ) fL(!!)QJrr15w 

(D) ru rr 8; lit 8; c:!)I uSl Q) th fL @QJ rr 15ru 

107. Name the hormone secreted by the pineal body 

Melatonin 

(B) Thymosin 

(C) Relax.in 

(D) Thyrotropin 

t5l~UJru 12....WJUY a;rJ8i@>th ~rrrraLDrrdlm QuUJrr 

(A) QLOruaLrrdlm 

(B) m~aLDrr6lm 

(C) nlQ)rr8;~m 

(D) 61)15a11m~rJrrut5lm 
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108. Which state has introduced the scheme Aahar for the poor people? 

(A) Rajastha n 

.Jlllf Odissa 

(C) Bihar 

(D) Jharkhand 

(B) ~iq.a:rr 

(C) ~a;rrir 

109. Name the anti submarine warfare ship launched in 19th May 2015 at Kolkatta 

(A) INS - Rajali 

~ INS - Kavaratti 

(C) INS - Vikrant 

(D) INS - Garuda 
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110 Th \\ 

r\) D 

H 

(A) 

( 

( ) Cit> ffJllITU IT,, 

Jn 

~ c 

D) Cochm 

Q 

(B) G6 m 

(D) Qs;rr65lm 

111. 'T'hc Akramnn-II cxercisn was conducted by Indian Army in the state of 

(A) Goa 

(C) Kashmir 

(A) Gairrrurr 

(C) s;rr~tnir 

(B) Odissa 

_,IJ1lf Rajasthan 

(B) lij)ll}-6IT 

(D) 7rr~oo~rrm 

112. On January 10 2015, Vikram Sarabhai Memorial award was given to 

¢ M.Y.S. Prasad 

(C) Tcndulkar 

(A) M.Y.S. t51116rr~ 

(C) QL6liGT@Q>s;ir 
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(B) Saina Nehwal 

(D) Dhoni 

(D) C:~rrQfl 

UJ lD 

• 



113. The train which has been named as Yoga Express is 

(A) Cauvery Express 

(B) Varanasi Express 

.g;Jlf Haridwar Mail 

(D) J anmabhoomi Express 

114. What is the name given to India's relief and rescue mission in Quake-hit Nepal? 

• 

~Q)p;@8;n;~~rrru urr~~d;LJULL ap;urrm~~d;@) .@fe~lturr Ge:u°JlljLO @UJfr@60LUy t.0!Dmtt.O t.OL..y u~ 
<OTG\.JGi.JITw~Q')w8;n;uu@.il!D@7 

(A) 

(B) 

(C) 

(D) 

~UalJ~QT Y@9GiuLrrir 

~UG1J~6&T Gl511JrrPJ 

~uGIJ~ro 6l.JLG1Jrr6iu 

~UGIJ~~ Q')LD~rfl 
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llo Md nM h n 1\1 h1 i n I Mi 1 n i bout 

I\ Pohc nd ( p 

~ nd r iclun 

(C) Student and Par nts 

(D) Arm) and Nation 

lD~ • CLOrre;ar LOru~UJrr ~61UJ fX- ~f)m GJ!irr8;s;ib ~Q)tvit 6rrri'Jh~~? 

(A) e;rrQJru~mlJ> lDJDt'Jiib e;r-QJrorra;ro 

(1~) 4§10lUJrT LDJDl!)Jib UITLib Sf>L-~~p;ru 

(C) LDIT~61Jir LD!Dg)lib GuJbG!Drrir 

(D) ~IJIT®QJLD LDJDIDJLD a~11tb 

116. Choose the new savings scheme introduced for girl child from the following: 

• (A) Suraksha Samridhi Yojana 

.{jll!f Sukanya Samridhi Yojana 

(C) Sukanya Bima Yojana 

(D) Suraksha Bima Yojana 

Ljf)UJ 06uSh'...ILJ 

(A) 6if)6i~fT 6tn0l~f) f)LLLD 

(B) 6id;~UJIT 6LDfiltl>tb1 f)LLLD 

(C) 6i8i~UJfT QLDIT f)LLLD 

(D) 6i I) 6i61!ji IT Q LD IT tb1 L LLD 
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117. ----metal is found in the controversial product of Maggie Noodles. 

(A) Aluminium (B) Iron 

,liJf Lead (D) Potassium 

(C) r:i:UJL.0 (D) Gurn.:..Lrr61UJL.0 

118. Arrange the following peaks of the Himalayas in descending order of height : 

I. Everest 

II. Nanda Devi 

III. Dhaulagiri 

IV. Nanga P arbat 

(A) I, II, IV, III ¢ I, III, IV, II · 
I 

(C) I, IV, III, II (D) IV, I, II, III 

I. 6T6l.J Q l}"Giu L. 

II. !f> _ffifl) IT ~fl)GOl 

III. Q~~ru£1rll 

IV. )Dffil851T UrTU~ 

(A) I, II, IV, III (B) I, III, IV, II 

(C) I, IV, III, II (D) IV, I, II, III 

• 35 G2T/15 
[Turn over 



119. l\1 h th followm 1 \Olut1on with th re p ctJ.v i Id 

R i.:olut1on Fi Id 

(a) StlVC'l' 1 Oil ed 

(b) Pmk 2 Fei ttl1zers 

(c) Yellow 3. gggs 

(d) Grey 4. Shrimp 

(a) (b) (c) (d) 

(A) 4 3 2 1 

.Jllf 3 4 1 2 

(C) 1 2 4 3 

(D) 3 1 2 4 

£C:19 G6.rr@&siuuL..@Gi'rro 4rJL..61B'>Q>ro Q~rrLrTL.jQ>LUJ yQJriiJa;arorr@ Gurr@~~a; : 

y11L..61 yroib 

(a) Qrucir~ ]. 6r~G6lRSnu GlSl~~B;B";Gi'r 

(b) @ro~616l.lu4 2. SLrflD 

(c) lD~6GTr 3. (Y)LQ>L 

(d) e:rriburo 4. @!Drrro 

(a) (b) (c) (d) 

(A) 4 3 ~ 2 1 

(B ) 3 4 1 2 

(C) 1 2 4 3 

(D) 3 1 2 4 
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120. Identify the original states before its bifurcation and choose the correct answer from the 

• 

codes given below. 

A B 

(a) Haryana 1. Uttar Pradesh 

(b) Jharkhand ll. Madhya Pradesh 

(c) Uttarakhand 111. Punjab 

(d) Chattisgarh lV. Bihar 

(a) (b) (c) (d) 

(A) lV ill 1 11 

(B) 111 11 1 lV .,, 
ill iv 1 11 

(D) 1 iii 11 lV 

.@U::nnrr.ffi!rurliJ.g;~m ~GllflU.Jrr<!b t5lrrtuu~d>® QP6b"l'Lj. ~Ql6U tOTt.i:Hnrr.ffi!ru~~L6b"r .@Ql611Ur.ffi~®JB~~ tOTQrUQ>)'!i 

~Q'lLU.Jrrmt.b .g;~(Bl £a~ Q.g;rr(B\8;.g;uuL.(B\Girm ®!!51u5(Bl.g;ml661(!!)Jii~ a:rf1U.Jrr6N 6lS'l6'G>LQlUJ a~r'rfeQ)'!i@ : 

A 

(a) ~rf1U.Jrr6Nrr 

(b) ~rrfr.g;~L._ 

(c) ~~~IJ"rr€!>a:bl> 

(d) a:L.1.e.~.g;r'r 

(a) (b) 

(A) lV ill 

(B) ill 11 

(C) 111 lV 

(D) 1 ill 

1. 

11. 

Ill. 

lV. 

(c) (d) 

1 11 

1 lV 

1 11 

11 lV 

B 

~~~IJ t5l~~6t.b 

LD~~UJ t5l1Jap;a:t.b 

u€!>a:rru 

t5e;rrr'r 

37 G2T/15 
[Turn over 



w n Jn 

m 

(B) Gurda pur m lnd1 to I<h r hi m Palu t n 

(C) Fir zpur m Inch to I ahorc m P lk1 tnn 

(D) D llu m Ind1 t-0 I hor m P k1 tan 

uS)Q> Curr UJ IT IT .$J 00 

(A) @,ti)~UJrrail~ <:!?!LLITOluSlru@®Jb~ urr£Qt>~rrmlru Q)ITBnrT QJQ>I] 

(B) @,ti>~UJrrQS\Qi ®ri'~rr®bJ,Olru @®Jbt;f urr£ffi>~rraflro s;11rr6.f1 rum!] 

(C) @jb~UJrrQSIQi tSlCl]ITWB>iflru @®Jb~ urrffiloo~rr~ru Q>rranll QIQ)IJ 

(J)) @)b~UJrrQSl~ QLruroluSlru @®fr>~ urr£Wf>1Tafiru Q>ITSO.IT QJQ>I] 

122. Who was the first well-known exponent of Algebra among Indian Mathematicians? 

(A) Varahamihra 

(B) Brahmagupta 

~ Aryabhatta 

(D) Bhaskara 

@fr>~UJrrailQi @ff>ru @UJW6i~fb aLDrofb UJrrir? 

(A) QJl]IT6ilTuSl~l]IT 

(B) LSll]LOLD@;Ufl>IT 

(C) ~ITlUJULLIT 

(D) UITWc$1JIT 
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123. Who was the author of the Natya Shastra? 

(A) Sachin Shankar 

"1JI' Bhar ata muni 

'p;rn.:....~lLJ 8'ITGTu~fJLD' GT(!:9~lLI ~§lrfllLJrT UJITrT? 

(A) 56§)Qr 5ffile;rr 

(C) UITIJ~QPdl 

(B) Aswagosha 

(D) Kalidasa 

(B) ~wQJGe;rrGl!f ri" 

(D) e;rrQfl~rr8'Qr 

124. National Commission for Scheduled Tribes recommends that a National Education 

Commission must be setup for every 

(A) One year (B) Three year s 

(C) Two years ~ Five years 

GT~~mm QJ(!?Lffile;~6;@) ~® QPmJD G~§lUJ e;Qi66l ~Q)6m"lLJ LD ~!Du@~~UUL aQJ~@Li:> GTm uwffil®~ 

@m L06;e;~6;e;rrm G~§lUJ ~ro6m"UJL.i:> urfl)i>~mfl Q5li.J~mm~? 

(A) QJ(!!)LLD ~® &mJD (B) (Y)QrlJ)J QJ(!!)Lffile;\§6;@) ~® (lpQ>JD 

(C) @rJQio"r@ QJ(!9Lffile;~6;@) ~® (Y)Q'l)D (D) ffi.ffi~ QJ(!?Lffile;(_§6;@) ~® (lpQ>JD 

125. Who was the first recipient of Bharat Ratna Award? 

(A) Dr. S. Radhakrishnan VJll'f Sri. Rajagopalacha ri 

(C) Pandit Jawaharlal Nehru (D) Dr. Rajendra Prasad 

&~~ro urrrJ~ g~mrr 66l@~mmu Qu !DJDQlrT lLirrfr? 

(A) Lrr6;Lfr GTGTu . @rJrr~rr.sl@~6lm"Qr (B) ~· grr~Ge;rrurrru65rrrfl 

(C) uQior~L. ~6lJ~frrurrQi Gp;@ (D) Lrr6iLrT. @rJITG2);1)i>~ fJ L.Slg8'rr~ 
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126 fi 11 '' m t<>m nu and f nd out th corr ct on 

rn b hber 1 n 

b d m r he 

3. A hb ral dcm C'I at1 g ' 1nmc>nt1 collcctn i tic 

4. A hhcrnl demoC'ratic gov rnm •nt is a wc.>lfarc stntC' 

Jllf 1, 2, 4 

(C) l, 3, 4 

LSIQ'iQJQ!)QJ6GTCUJDgl!GiT 6~UJIT6GTQ>{b G{bITGl.j Gs:u'..J~ 

J. mmJr>!Tll.lffi ~1]61Tffii8itD 61f>JblJIJLDITCiln§I 

(B) 1, 2, 3 

(1)) 2, 3, 4 

2. 6.tfJJbf}rJ ~1]61Tri.J8itb mmJD!Tll.18i (!PQ>JDQ'>LO LalLUJt)J 

3. 61fbfb~rJ ~OOJ!ifTUJ6itD 5!® &.L@ (!5@LDtb <'JfTITLj6ULUJ§J 

'1 . U.{bfb~rJ ~mSorrUJs;t..0 Gurr~ !bro B'rTrTL.jQlLUJ~ 

(A) 

(C) 

1, 2, 1 

1, 3, 4 

(B) 1, 2, 3 

(0 ) 2, 3, 4 

127. Which one of the following prov1sions can be amended by a simple majority in the 
parliament? 

(A) Provisions rela ting to Executive power of the union 

(B) Provision~ rela ting to Executive power of the sta te 

(C) Provisions rela ting to constit ution of a High Court for Umon Territory 

~ Provisions rela ting to composition of the legislative councils of the state 

t.SlEiifQJ(!9Lb "6l~QPmJDa;mlw ror]b{b ~Qt!!) urrrrrr~tnarw~!Jar 6rrp;rr11QRIT Gu(!9LhurrmmL.O <Ylrut.O 

JblmjDGQJ!f>jDLIUL jUJ@)JtD? 

(A) tnP>fJtu c:&1rr61Qi- .i@rrrurra; c::!!il~Birr1Jri.Js;Gir G1firrLr'rurrm 6'6'1f)QJ>'1>!D&m 

(B) tnrr.ffilQ) c:&1rr6lm ,!BlrrQJrrs; c:!9!~8irrl]ri.l8im G{brrLfrurrm 6'6'1~QJ>m1Ds;Gir 

(C) iy,aflUJEiir t.Sll]C{b6 LUJr'r~~LOmJD c:!>ll]6'illLOLILJ G15rrLr'rurrm 6lSl!J@QlJD8iGiT 

(D) tn rrJblrul'b~Qi s:L..L C:LOQ)6J>QJ LDm.©Lb G15rrLr'rurrm 6'6'1~(!:P"fl.(!)8iGiT 
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128. The Lokpal bill was fir s t intrQduced in the Lok Sabha in which year? 

~ 1968 (B) 1967 

(C) 1965 (D) 1964 

~rurr.Su rrro LD~e:rr~rr QP~6bl'QP~Gl5160 ~6\lrr.S e:urr6!Slro 6fJb~ ~~@ ~r6l&s;Liu@~~uut.:.L~? 

(A) 1968 (B) 1967 

(C) 1965 (D) 1964 ... 

129. The Verma Committee on fundamental duties was set-up in the year 

~ 1999 

(C) 1996 

(A) 1999 

(C) 1996 

(B) 1998 

(D) 1994 

(B) 1998 

(D) 1994 

130. Which one of the following articles says, "The Vice President presides over the meetings of 

the council of states"? 

• 

~ 89 

(C) 87 

(B) 90 

(D) 88 

t5l6bl'Gl..JQ!jQJ~Gl..l!f>lPJITT 6f~~ ~fl5~LDUL...j GlSl~ ~~~ @jtq.-UJQ'"8i ~~Q)Q.l rT LDrr.ffilruri.J.$ITT~61..l 86'1.LLri..J<'Ji~S;® 

~~Q.lGIDLD ~rTriiJ@jGl..JITIT 6f~ 86'1.tpl$1jD~? 

(A) 89 

(C) 87 

41 

(B) 90 

(D) 88 
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1 l Za1mndan ' tern \\as introduced b 

Al Tl m 'Mum 

Lord Cornwalbs 

(C) Venkata Subbaiah 

(D) M) rdal 

mLBGin~rrnl <!Jla>JD@~~UJrr66lru UJrr17rrru G15rrLr&ls;uuL...1...~? 

(A) lblTU)Qu LD6irral]rr 

(B) rurrr'r@ e;rrr'rmrurrrolGiu 

(C) QQJrf.Ja;1... e;umuwrr 

(D) L.61 ir1...ro 

132. Which one of the following States of India has no railway line? 

(A) Arunachal Pradesh 

(B) Meghalaya 

(C) Tripura 

./}ill Nagaland 

(A) ~Q!)QUTIT66Q)U ~ 1}<]~61.b 

(B) GLDB;ITQ)UJ rT 

(C) ~rrlyl]rr 

(D) pi IT B;Q) rr,(b§J 
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133. Land reforms provide 

(A) Finance for improving fertility of land holding 

(B) Incentives and encouragement to land owners 

.fJlf Incentives and encouragement to the tillers 

(D) Finance for starting petty shops for farmers 

134. Who among the following has made the first systematic attempt of planning in India? 

(A) Jawaharlal Nehru 

(B) Mahatma Gandhiji 

.¢" M. Viswesvarayya 

(D) P.C. Mahalnobis 
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130 Wbo \\ th lead r of 8 t~ rnh Comm1tt or am d far th nmov l of 

\lu nna1? 

tj/Jf ..... Soma) UJulu 

(B) P. Vamdara1ulu 

(C) Padmasnm Ammal 

(D) Srmiva a Ayyangar 

l Statue m 

GeGSTmmu5lru t!..cirro 'P>w 51 w UJ' ~a;Jil!D UJrr@an ... w ~66lQ)66lLOuSlru 6j~u.mBi~IJ6j ®@ 

.&imL06i.$uuLI._ ~? 

(A) N C:S:rrtnUJIT~""~ 

(B) P. QJl]~l}"IT~""~ 

(C) U~LOIT6Qfl <::&JWLOITcir 

(D) ~QflQJrr6 tEti.JUJrb.ls;rrrr 

136. When did Nehru become the President of Indian National Congress? 

vtf On 6 July 1946 

(B) On 15 August 194 7 

(C) On 26 November 1949 

(D) On 26 January 1950 

@.IT;!>1UJ G~51UJ e;rrri.J..t'l'l~ ~mrorul}"rr8i GJD@ ~uaurr~ Gurr1))!LiGu!f>!Drrr'r? 

(A) ~~Qlro 6, 1946 

(B) ~e;Giio@ 15. 194 7 

(C) p>rutburr 26, 1949 

(D) ~~Qjtft 26. 1950 
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137. From which novel was the National song of Vande Mataram taken? 

(A) Bavani Mandir 

(B) Sandhya 

(C) Kesari 

.,iJil'f Anand Math 

(A). LI6lJrrml Ln)ii~r'r 

(D) ~~fr>~ LnLLD 

138. During the freedom struggle on which day the Indian National Congress celebrated the 

Poorna Swaraj? 

• 

\Jlf!f' · January 26, 1930 

(B) January 26, 1929 

(C) August 15, 1930 

(D) August 15, 1929 

· (A) @'6~6lJIT1 26, 1930 

(B) ~~6lJIT1 26, 1929 

(C) ~s;G"il)L..15, 1930 

(D) ~B;wL..15, 1929 
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1 9 lf 11): DR )(,1 N 1 

.( ! P\ KOQPA 

((') I RX!\1Q8RC 

nt d .1 JC'JZl 8SD how Al\ J IMONY w11l b r l 

(RZQWABO 

(D) GTZOSUTE 

nt d a 

If\ DROGEN r ·r!D '16 wmru "JCJZ't.SSD" Grm.(!)J Gr@fDQmQ), 'ANTIMO?\'Y" QT!D G6rrru~ru 

uu~ 6T {b C dM@ib? 

(A) CPVKOQPA 

(C) ERXMQSRC 

1'10. Arrange in descending order : 

).[12, efiO' !fi5 . ../BO' l~ 

~ JBO, Vli, 1/20, V25, 1·th 12 

(B) JSO, VJi, VW, 1fu2, 'i./25 

(C) ID, ../8o, ~. '425, 1~112 

(D) Wf,, 1~112, Vli, ../80, 1./20 

@!Dri.J@) QJrfl6Mi6lw 6T@~ ; 

ifli. ifW. §./25, ../80, l~ 

(A) JSO. m. vw. if25. 1~112 

(B) JSO. m. w:o. 1fu2. V25 

(C) ID, JSO, VW, Q/25, 1~l12 

(D) 'i/25, 1~112, Vli, ../80, if20 
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(D) GTZOSUTE 
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141. Find the range of the following data : 

25, 67, 78, 43, 21, 17, 49, 54, 76, 92, 20, 45, 86, 37, 35. 

(A) 78 

~ 75 

(C) 92 

(D) 86 

25, 67, 78, 43, 21, 17, 49, 54, 76, 92, 20,45, 86, 37, 35. 

(A) 78 

(B) 75 

(C) 92 

(D) 86 

142. A is B's sister, C is B's mother, D is C's father, E is D's mother. Then, A is the-- --­

of D. 

• 

(A) Grand mother 

(B) Grand father 

(C) Daughter 

.Jjlf Grand daughter 

A cormUQJfr B-m a:aa;rr~rfl. c cormuQJrr B-m ~rn.U, D 6r6&'TU61Jfr C-m ~a;uum LDJD!l)ltO E cormUQJfr D-m 

~rni.J GT6&'TJDIT6i>, A cormUQJfr D-~m ------

(A) urrL...tq.. 

(B) ~IT~~IT 

(C) LD8im 

(D) au~~ 
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14 i A I rich r han B (' 1 r ch l th n A J) 1 t ll h r than C. El th 11 h t of 11 If tlwy are 

mt I 

(A) 

.gJlf c 

(A) A 

(C) c 

f1, hn 

f)u. rrm ir C 

'\\ho will h \ th ntr l po 2t1 n? 

(H) B 

(0) J) 

IT 

(B) B 

(D) D 

rr D 6N ,,. c m 6'61L 

144. A hollow cylindrical iron pipe is of length 35 cm. Its outer and inner diameters are 10 cm 

a nd 8 cm respectively. Find the we igh t of the pipe if l cu.cm of iron weighs 7 gm . 

.Jiff 6. 9:l kg 

(B) 9.90 kg 

(C) 7.53 kg 

(D) 7.93 kg 

~® l!...lii"rffi'L!D!D .@®t.04 ®wrru9m )bmt.O 35 Ga:.LE, ~tJ>m QQJffil LD!Droit.O sun 6'61L..Lrhi&m @Q'l!J)aUJ 

10 Ga:.uS wwwt.0 a Ga:.uS COT6ifilru . .@®t.048> ®wrru9m COTQ)LQ)UJ s;rr6Ws;. (1. .s.Ga:.uS .@®t.O!Slm cormL 

7 .$lflrrt.b) 

(A) 6.93 &l.$l 

(B) 9.90 .$1.$1 

, (C) 7.53 .$l.$l 

(D) 7 . 93 .$1$1 

G2T/15 48 • 



145. Find out the missing term in the given alphabet series. 

AZ, GT, MN,_, YB 

(A) JH 

\jJ1f SH 

(C) SK 

(D) TS 

AZ, GT, MN,_, YB 

(A) JH 

(B) SH 

(C) SK 

(D) TS 

146. 7 men can complete a work in 52 days. In how many days will 13 men finish the same work? 

• 

(A) 20 days 

(B) 13 days 

(C) 7 days 

.q/f 28 days 

7 ~L.a;m ~® aru6'6>Gl>Q'>lU 52 .mrrL.a;ml6\:l Ga:u:.i~ ey:>ut-.$.$1Q-r!D~r'r. ~a~ a6l.lQ'>Q)Q)lU 13 ~L.a;m ~~~6'6>~ 

.mn'Lc$mlru Qa:u:.i~ C:Put-Liurrrra;m? 

(A) 20 .mrrL.a;m 

(B) 13 .ffirTLc$~ 

(C) 7 .mrrl..c$m 

(D) 28 .mrrL.a;m 

' 
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I 7 If 

A) 

(C) 

7 

2 
7 

a 9 ~·a b - - -- '1"~U§l €iTQT~? 
a b b 5 

(A) 
3 
7 

(C) 2 
7 

148. Find the LCM of 45 ,4-81 ,412 and 47 

(B) 4 

(C) 4 2 

(D) 4-2 

45 4-81 412 47 · to n Q · 
' ' ' -QT LD.IOIUrr. u s;rrQl!T8i 

(A) 412 

(B) 4 

(C) 4 2 

(D) 4 -2 

G2T/15 

(B) 

(B) 

(D) 

50 

7 
3 

7 
3 

7 

2 
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149. Find the missing number in the following: 

4242, 4254, 4230, 4266, 4218, 4278, ----

(A) 4264 

(B) 4272 

(C) 4228 

.(jiff . 4206 

4242, 4254, 4230, 4266, 4218, 4278, ----

(A) 4264 

(B) 4272 

(C) 4228 

(D) 4206 

' 

150. The average of 4 values is 20 and when a quantity is added to each value the average is 22. 

Find the quantity. 

(A) 1 

(C) 3 

.,,fjfff 2 

(D) 4 

(A) 1 (B) 2 

(C) 3 (D) 4 
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1 , 1 

(m) 

(iv) \ lor1tyfJ im 

(A) 1), (ll) nd m) (B) (n) (m) nnd (1v) 

(C) (1) (m) nd (n) .Jiff (1) (u) and (1v) 

£wQJ(!r>QJ QJ or GT~ru efil? 

(i) CQJQ)Q) = G'@ma: x @LuGuUJfr66l 

(ii) ~IDm = C:ruQ>ru/e.;rrrutb 

(iii) 661Q'lc!f = ,lblQ'l!D x p)Q'laC:ruaab 

(iv) QP@6'e;t.D = p;lQ')lfC:QJa,t.O/a;rrrutb 

(A) (i), (ii) l1l!i>LJ)ltb (iii) (B) (ii). (iii) LD!i>glf LD (iv) 

(C) (i), (iii) LD!i>g)ILD (iv) (D) (i), (ii) LD!i>g)ILD (iv) 

152. Why the wings of an aeroplane are shaped with lower surface being fl.at and the upper 
surface being curved? 

(A) To reduce vibration 

~ To make difference m pressure to lift the plane vertically 

(C) To accommodate more passengers m the wing 

(D) 'ro strengthen the wheels fitted in wings 

6lSJLDrr6in .@!DSi(;J)e;uSlm £wurruLJ ifLDLDrra;GlJiD. CLD!i>urruLJ QJQ)6JTQJrra;6lJt.O @®Liu~ ~m? 

(A) <:&i~r'rmru @>Ql!D.$e; 

(B) LDITt1)JULL <:&i@?>t£>?>6flt£> ~QorLrr.$.$1 "6ll1lrrQT?>6Jlff> C:LDGru@t.bU Qe:li.JlU 

(C) ~~ailDITQT UUJ60Nl8.i(;J)QT ~!D!D 

(D) @!DS;ma;uSlro Gurr@?>ff>LiuL..@mm e:S;a;ry~!D® 6l..JrolQ)LD C:e:rr.$a; 
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153. Match the following: 

Famous Indian Scientist 

(a) C.V. Raman 

(b) J.C. Bose 

(c) M.N. Saha 

(d) S.N. Bose 

(a) (b) (c) (d) 

(A) 1 2 3 4 

(B) 2 3 4 1 

(C) 3 4 1 2 

./Jllf 4 1 2 3 

$~8;a;~u;uJi>~!D Gurr®~~a;: 

Lla;~QuJ!>!D .@.ffi~ILJ ~.(61(§r'ra;6Tr 

(a) fil. 6lSJ . .@flrTLD~ 

(b) (]~.6l. Gurroo 

(c) 6TW.6Tm. a:rr~rr 

(d) 6T oo. 6TQJ-. Gu rr oo 

(a) (b) (c) (d) 

(A) 1 2 3 4 

(B) 2 3 4 1 

(C) 3 4 1 2 

(D) 4 1 2 3 

• 

1. 

2. 

3. 

4. 

1. 

2. 

3. 

4. 

Their Contribution 

Ultra Short Radio Waves 

Thermal Ionization 

Quantum Statistics 

Inelastic Scattering of Light 

·' 

~6l.Jrra;ml~ uri.Ja;mlLiLj 

uSla;8; ®W$11LJ G11ttt(]11Jrr ~~rua;m 

Q 6l.J u u ~ ILJ 6bfl ILJ rr 8;a;ru 

®6l.J rr~Lt.D Ll mml u5l 11Jru 

u5~66llUJD!D ~ml8:6l~!DQ> 
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1 ,:i \:\ nrh on thF follmvm re; nur nn Horrope- of rnrbon 

{ lham nd 

( ) 

(A) 

(C) LJrurufil . 

(B) hruplu 

.fiJ'f Butane 

lD!Dib W IT~ GT~? 

(B) L. 

(D) tSl~C:LQT 

155. Mutch List I with List 11, select the correct answer usmg the codes given in the options : 

List I List II 

(n) First Generation Pesticides 1. Pheromones 

(b) Second Generation Pesticides ') .... Juvenile Hormones 

(c) Third Generation Pesticides 3. Pyrethrins 

(d) Fourlh Generation Pesticides 4. Organo phosphates 

(a) (b) (c) (d) 

(A) 1 4 2 3 

(B) 2 3 4 1 

3 4 1 2 

(D) 4 2 3 1 

uifllUIT6GT 661"6'>LuS1"6'>6GT~ Q~fil6l..j Qa=U:.,e; : 

6lJrTlQ'la= I QJ ifl a>a: II 

(a) C!:P~ru ~mruQP"6'l!D kj,B=61B;Qe;rrruro1 1. 0°0GuC:grrC:t0rrww 

(b) ~l}'QorLITLD ~6'>Q>(!Pa>!D b:J,8'§18;Qe;rr6'>@1 2. ~ .. QQJm~ru ~rrfrat0rrw6iu 

(c) e!JlW!D rrl.O ~"6'>Q)QP Q) !D bj,8:§18;Qe;rrruro1 3. Q'luGg~tfl~w 

(d) )DITWSirrtb ~mro@a>!D bj,5§18;Qe;rr6'>6151 4. ~rT8;C6Glrr •0oU rrwC:u L.w 

(a) (b) (c) (d) 

(A) 1 4 2 3 

(B) 2 3 4 1 

(C) 3 4 I 2 

(D) 4 2 3 1 
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156. Match the following : 

(a) Castor oil 

(b) Gingley oil 

(c) Neem oil 

(d) Groundnut oil 

(a) (b) (c) 

(A) 1 3 4 

(B) 3 2 1 

¥ 4 1 2 

(D) 2 4 3 

Gurr®~~a; : 

(a) 6iSl GIT 8;Qa;6liuTQ~uj 

(b) p;ruG6UooQ~u:.i 

(c) C6l.Juu ~6liuTQ~u:.i 

(d) d>Lmru ~ooQ~u:.i 

(a) (b) (c) 

(A) 1 3 4 

(B) 3 2 1 

(C) 4 1 2 

(D) 2 4 3 

• 

1. 

2. 

3. 

4. 

(d) 

2 

4 

3 

1 

1. 

2. 

3. 

4. 

(d) 

2 

4 

3 

1 

Sesam um in die um 

Azadirachta indica 

Arachis hypogea 

Ricinus communis 

61 a:rrLD LD ~ 6liuT lq-8> LD 

~a:rriq.Q[8;Lrr ~ooiq.a;rr 

s$J1Jrr8;gj~ myiroCurr~tLJrr 

Q [ 616lST~ a;U:i \Y;iml~ 

55 
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157. \\ 11 h f th fo1l w 1ll 1 n <> till} l 

.Jllf ( ol ur Hhndn 

(H) Albm1 m 

(C) Alkaptonuna 

(D) Mnngohsm 

(A) J£l!D8>®®@ 

(B) ~aaSl~ali:i 

(C) ~rus;rruCLrr.llil~rllUJrr 

(D) wri.JCs;rrroiaU:i 

158. What is the other name for Lept'osy? 

(A) Botulism 

(B) Tetanus 

ti/jllf' Hansen'::; disease 

(D) Rabies 

G~rr@C)DrruSlm LO!i>G!Drr® GuUJrr ~mQJT? 

(A) urr@roi6Lb 

(B) Qu: .. LITQTQ\.) 

(C) ~m6mffi> C!JDmi.l 

(D) C1Jt51 ffi> 

G2T/15 

or 1mk d hromo om mh ritnnc ? 
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159. Name the visually challenged person who got selected in 2015 Civil Service Examination 

.Jiff Beno Zephine 

(B) Bianca Catherine 

(C) Julie Laudine 

(D) J a net Catherine 

(A) Qua~m ~u6b'>u~ 

(B) i.SlUJrr6iira;rr aa;~~rflro 

(C) ~-06151 Q) IT Lq. ~ 

(D) a~~L.... aa;~~rfl6iir 

160. The device which can store more data among the following is 

~ DVD 
(C) ROM 

(A) DVD 

(C) ROM 

161. EDGE st ands for 

• 

(A) Extended Data for GSM Evolution 

"'1llf"' Enhanced Data for GSM Evolution 

(C) Enhanced Data for Global Evolution 

(D) Extended Data for Global Evolution 

EDGE GTrou~6iir 6'Slrflrurr8;a;U:i 

(A) Extended Data for GSM Evolution •. 

(B) Enhanced Data for GSM Evolution 

(C) Enhanced Data for Global Evolution 

(D) Extended Data for Global Evolution 

57 

(B) CD ROM 

(D) CD RW 

(B) CD ROM 

(D) CD RW 
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8) lur n D 

.g;f Ronula Thap i 

(D) \ P Gupta 

"The P t B ii re U " 

(A) 681 tfi(!!)IT 

(C) G1JrruSlrorr p;rruufr 

• 

61rftUJ • I ? 

(B) c$11JEiWT G~qrru'.J 

(D) V.P. @)Li~rr 

163. The Indian Airport which bagged the prestigious 'Golden Peacock National award for the 

year 2015' ii:; 

t{,Jlf Delhi International Airport 

(B) Veer Savarkar International Airport 

(C) Chatrapathi Sivaji International Airport 

(D) Trivandrum International Airport 

Gu®mLOB;®filUJ ·~rf:Ja;LOuS'lru c~81UJ ~®Q)t1>' 2015-ro GaJm!D .@.(b~lU ~LorrbilT Jbl<>6lQ)UJLb 

(A) QLruQ)l s1raJG~a: ~LDITQT p;IQ)Q)Ll.JLD 

(B) 65fr 8'QJITrT85fr <'frTQJC~a: ~l.OITQT .ffilmruUJLb 

(C) <'f~~IJU~ 6)QJrrw lfrTQJC~ ~LDITQT .i£lmruUJLb 

(D) ~(!9QJQT.ffipiLJIJ"LD lfrraJCpi6 ~torrEiN .ffilmruUJLb 
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164. Who among the following was sworn in as the Chief Minister of Jammu and Karl1rnir State 

on March 1, 2015? 

(A) Umar Abdullah 

(B) Gulam Nabi Azad 

Jil'f Mufti Mohammed Syeed 

(D) Farook Abdullah 

165. Where is India-based Neutrino Observatory (I.N.O) going to be built? 

(A) Ramanathapuram District, Tamil Nadu 

(B) Kallam District, Kerala 

tJJlf Theni District, Tamil Nadu 

(D) Udupi District, Karnataka 

(D) ~@ui.5l U:HT6l..JLLLD, a;fr!IJrrLa;tb 

• 59 G2T/15 
[Turn over 



< .., Int r ti n 

A> Jun ... 1 

(C') Jun 22 (D) JunC' 28 

(A) ~ 20 (B) " 21 

(C) ~ QT22 (D) tQ QIT23 

167. With which nation did India settle a border diHpute in May 2015? 

(A) Pakistan 

(C) Myanmar 

(A) urr.$lcoiu~rr~ 

(C) uSIUJrr~LDr'r 

~ Bangladesh 

(D) Sr1lanka 

(B) QJffiJa;rrmG~a:i.b 

(D) ®Qlri.JQ)a; 

168. Name the chief guest who participated in India's 66th Republic day celebration 

.JI( Barack Obama (B) Xi Jinping 

(C) Shinzo Abe (D) Vladimir Putin 

(B) ~ ~~n51ffil 

(D) ~mrriq.u51r'r LJtq.m 
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169. On successive nights, the moon rises about 

.J,JI!' 52 minutes later 

(B) 90 minutes earlier 

(C) the same time 

(D) 2 hours later 

(A) 52 .@t.6Ju.b ~ITLD~LDIT5 

170. The diurnal range of temperature is maximum in the 

• 

(A) Equatorial region 

(B) Savanna grassland 

(C) Temperate grassland 

.,fJllf Hot deserts 

\ 
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1 1 1 d n rn T 1 iln lu 

TI) q kn 

( ) 82 p r on I q km 

(D) _5 p r on I q km 

2011 U>& Q IT s; ll56!ZHEQ @ut51 Utit uSIW/IJfT • • U>.i6i61TLrT~~ 

(A) 555 U>. m I 6 £1 t1l 

(B) •180 LD.$.$m I 6 . .$1.tE 

( ) 382 LDMGTT I 6 . .$1.tE 

(D) 325 LDMGlr I 6 . .$1.L.5 

172. When it ii; 1.00 pm at Greenwich meridian, the local time at the Central Meridian of India is 

(A) 4.30 pm 

(B) 5.30 pm 

6.30 pm 

(D) 7.30 pm 

8.l~m6'Sl6 ~ri'B;s;C:gQ'>s;uSlru LDi$)UJtb 1 LDQGf1turrB> 12-mro C:urr~J. @P>~UJ LD~~UJ ~ri'B;s;QJ]ooB>uSlQi- ~ro C:Jlil]Lb 

(A) 4.30 pm 

(B) 5.30 pm 

(C) 6.30 pm 

(D) 7.30 pm 
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• 

173. \Vho is rightly ca11ed as the 'Father of Indian Cinema'? 

~ l\1r. Dadasaheb Phalke 

(B) Mr. V. Shantaram 

(C) Mr. S.S. Vasan 

(D) Mr. Guru Dutt 

174. During the time ofH'.arsha who served as the head of the Nalanda University? 

(A) Fahien 

(B) Hiuen-Tsang 

.q!f Shilbhadra 

(D) ltsing 

(B) ll.j6Urr~ 8i6l.J rrriJ 

(C) 6lrurru~fJrr 
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175. .N m h fir t N \ l m T l u 

ll) 'J lk pp1 m 

(C) Kuti la h.m avanclu 

P1 t pa Mudalwr Ch r1tam 

UJLIULL (Ip 

(A) Gp;.LhurrruaNl 

(B) Gp;.rrrue;rru t51 llJ Lh 

(C) ®WJDITQ} ®JDGU\§61 

(D) tSlf)~ITU QP~QSlu .. HTr'r qrflp;tb 

176. Name the first Asian, who was the recipient of Nobel Prize for economics. 

(A) Subramania Chandrasekhar 

.gJlf Prof. Amartya Sen 

(C) Hargobind Khorana 

(D) Chandrasekhar Venkatraman 

ap;rruru urflor Gu!i>!D ~elturr'8'>ru6 s:rrr'r!b~ QP~ru Gurr®mrrp;.rrrr )£14€MTrllQr GulUrTlmm ®!J5lutSl@s;. 

(A) orut5lf)LO~UJ 6fb~IJG6e;r'r 

(B) Prof. c&tLDr'r~~llJrr Gs:Qr 

( C) ~ rraa;m5l ti> Q e; rrrrrr 6lllrr 

(D) 6)b~l)Ge:a;rr GGUrfil8:iL...1JrrLO~ 
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177. Article 360 of the Indian Constitution deals with 

(A) War emergency 

(B) Constitutional Emergency in the states 

tlfl!ff' Financial Emergency 

(D) Administrative Emergency 

(A) Currrr s;rrQ) .~QJS:l)t.i:> 

178. Which of the following cases prompted the Indian Parliament to enact 24th Amendment 

Bill? 

• 

.vlf Golaknath case 

(B) Shankari Prasad case 

(C) Keshvananda Bharati case 

(D) Shah Banu case 

@~~w urrl)rr(_§LOmJD 2461.J~ s:LL NrrfJ®~fh~~fD® s;rrl)Qms;rr~fhrrrurrs; ~Q)LO~fh s:rr6"6ls:.Sr!!JITlw Qjw.s® 

wrr~? 

(B) s:rfils;rrl. t5ll)s:rr~ 61.JW.Sr!!J 

(C) Cs;S:QJ)!iJBfh UrTI)~ QJW.$® 

(D) Q!jifT UfT®J QJW.$® 
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i-9 1 t h 11 t I WI I JI 

I 

H1 h Cour l f F, t bl hm nt 

(a) Allahabad 1. 1862 

(b) n Ih1 2 1881 

(c) Karnataka 3 1966 

(d) Mndrns 4. 1896 

(n) (b) (c) (d) 

(A) l 3 4 2 

(ll) 2 4 3 I 

(C) 3 1 2 4 

(jllf> 4 3 2 1 

• UL~UJW I UL~UJ@ II 

1!1...tu r'rffi~h.omJDrlil8i"1r n....(!!)Gl.J1T8>8iUULL ~Gliar@ 

(a) ~Q)8ilTUrT~ 1. 1862 

(b) GLruGIS'I 2. 1884 

(c) BirTJ!irTL8irT 3. 1966· 

(d) Gt.oL.IJ"rr~ 4. 1896 

(a) (b) (c) (d) 

(A) 1 3 4 2 

(B) 2 4 3 1 

(C) 3 1 2 4 

(D) 4 3 2 1 
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180. Who is the thirteenth President of India? 

(A) 

.(B) 

~ 
(D) 

Dr. A.P.J. Abdul Kalam 

Smt. Pratiba Patil 

KR. Narayanan 

B.D. Jatti 

(A) ur.SLr'r A.P.J. ~u~ru .s6Urrt..D 

(C) KR. JDITl)ITt1J6lm"~ 

(D) B.D. ~L.ur 

181. Which one of the following is not a function of Chief Election Commission of India? 

t(J/f Conduct of elections to the office of the State Governor 

(B) Conduct of elections to the offices of the President and Vice-President 

(C) Conduct of elections to Parliament 

(D) Conduct of elections to the State Legislatures 
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l 2 \\ 

B) B nk 

( ) In ur nc 

Toun m 

(A) ~GfOTQj UpjUU@~~PiGU 

(B) ruri.J.il 

(C) s;rrul.5@ 

(D) a;!i>g»Q)rr 

t du t in h ~orld 

? 

183. Which one of the following programmes is related to employment generation? 

(A) Sarva Swasthya Abhiyan 

(B) Sarva Shiksha Abhiyan 

Swarna Jayanti Gram Swarozgar Yojana 

(D) Indira Awaas Yojana 

.«we;s;rr~Lb tbJL.Lriils;~ru GT'~ aQJ6l)Q)QJrru.Ju4 <:!9tthJq;ifluu~LQ7 Q~rrLr'rL..lmLUJ~? 

(A) s:frru QUrutbJUJ ~L51UJrrm 

(B) s:rrru ~O;~rr ~L51UJrrm 

(C) WQJrTEm GsiUJJi;~ .ill]ITLD ~QJC:l)"IT~BirT tbJL...LLb 

(D) @Ji>tbl IJIT <:!91 QJ ITW ~ LLLO 

G2T/15 68 • 



184. Match List I with List II and select the correct answer using the codes given below the list : 

• 

List I List II 

Committee Purpose 

(a) Dutt Committee L Industrial Licensing 

(b) Wanchoo Committee 2. Direct Taxes 

(c) Rajamannar Committee 3. Centre-States 

(d) Rangarajan Committee 4. Disinvestment 

Codes: 

(a) (b) (c) (d) 

(A) 4 3 2 1 

(B) 1 2 4 3 

.Jiff 1 2 3 4 

(D) 4 1 3 2 

~LLQJ~~ I-re ~LLQJ~~ II-Gur@ Gurr®~%! ~LO~ a:illUJrrm u%J~ru $~.$Birr®JLb ®!61t0L..@u 

U®%JuSl6U Q~illGlj Ga:u:.i8i : 

~LLQJG'G)~ I 

@)@ 

(a) !D~@)@ 

(b) QJIT~Si@)@ 

(c) IJIT~L.Ommrrr'r @>@ 

(d) 1JriuffilJIT~6ftr @)@ 

®!61t0@BiGTI-: 

(a) (b) 

(A) 4 3 

(B) 1 2 

(C) 1 2 

(D) 4 1 

(c) 

2 

4 

3 

3 

1. Q~rr~!iJa:rrG"G>@ ~WJLD:tJ 

2. G.ll>r'rQ:Pffi 6l.lill 

3. LO~:tJUJ - L.Orr.ffilru ~IJ8i8iGIT 

4. C:P~~ru~ %J®Lbuu Guw~ru 

(d) 

1 

3 

4 

2 
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180 Th '' fi und db 

\) 

(B) J h1 

(C) J B K11palam 

Subash Chandra Bo c 

(A) c;ri.b c;r6N l]ITtLJ 

(B) C83rr~ 

(C) C~ . tS1 . .$l(!!iUrTruEMITl 

(D) s;urr~ e:J1!)1J Curr'1u 

186. Who was called the Portuguese Knight Courtier and Sea Captain? 

(A) Vascodacama 

(B) Columbus 

(C) Ferdinand 

fl/If Barthalomeu Diaz 

s;uud>u6'lL~ p;rou~ 6Tm6LJl.b c!916'>QJCUJrr~ 6TQTQJLD c!916'l~8;s;uuL..L Currir~~8;£fi!UJ ~1]6Ge:UJru 

Ljrfl]!i~QJ6N UJrrir? 

(A) QJITOOCs;rrL.SITLDIT 

(B) Qa;rrQ>Lbuioil.l 

(C) Quiriq.mrr~@ 

(D) ur'r~~QroCLDll..j LUJQu 

) 
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187. Name the first Indian who became the member of the British Parliament. 

188. 

• 

(A) Gandhiji 

(B) V. 0. Chidambaram Pillai 

(C) Subramaniya Aiyer 

A Dadabhai Naoroji 

(B) 6151.~. §l~U:iul)tb t51Gir6'6">m 

(C) e;ulJLD~llJ ~lUir 

(D) fbrTfbrrurru:.i G)!)malJrr~ 

1 1 
If·x + - = 2, find the value of x 3 +-

3 
. 

x x 

(A) 1 

tJll1f' 2 

(C) 3 

(D) 4 

X + _!_ = 2 GT6l5flru x3 +-\-~ LD~ULj 6TEi&T6Ul? 
x . x 

(A) 1 

(B) 2 

(C) 3 

(D) 4 
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189 Find th II G F of 
4 2 G 2 

9 5 H n 

..¢ I (B) 
2 

180 181 

(C) 
2 (I)) 

1 -
350 142 

4 2 6 2 
m J) Gurr QI GT&im? 9' 5' s' 5 

(A) 
l (B) 

2 

180 181 

(C) 
2 (D) 

1 -
350 1'12 

190. A survey in which information is collected from each and every individual of the population 

is known as 

.¢ Census 

(B) Secondary data 

(C) Schedule 

(D) Data collection method 

vi® s;Q1MB;Qe;@ui9ru. GLOrrP>~ LOc!i>s;mG~rrQ'>a;uSlru viQ.iQQJrr(!;Q.liflLL.6l®Ji>~l.O QSlQJgri.Js;~Hn8: 

C:s:s;filuutDJi>® GuUJrr 

(A) (Y)QgB;e;~ u Lt 

(B) @g~Lrrib ,ffi)Q>Q) tD'T6l.JBiID 

(C) QS)QTrr Q~rr®~ 

(D) p>'T6l.l Ga:e;iflB;®ib @~JD 
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191. Find the principal that yield a compound interest of Rs. 1,632 in 2 years at 4% rate of 

· interest per annum. 

(A) Rs. 10,000 

q Rs. 20,000 

(C) Rs. 30,000 

(D) Rs. 40,000 

(A) ®· 10,000 

(B) ®· 20,000 

(C) ®· 30,000 

(D) ®· 40,000 

192. Mohan started from point P and walked 2 m towards west. He then took a right turn and 

walked 3 m before taking a left turn and walked 5 m. He finally took a left turn, walked 3 m 

and stopped at a point Q. How far is point Q from point P? 

(A) 2 m 

, 7m 

(B) 6 m 

(D) 8 m 

atnrre;~ 6l'Qru6l.Jrr P 6l'Qr!D @L~~rol®Ji>§J LIJDLiuL...ffil atnwa.g; 2 tE ~'J'li> Q<%i>.$lwrrrr. tSl~ 6l.Jrouu8i.g;ib 

~@ibt5l 3 tE ~!Jib Ga:Q1wi, @LLiuB;e;ib ~@ibt5l 5 tE ~!Jib Qa:Q1roi, @roi~turr.g; @LuuB;e;ib ~@ibt5l 3 tE 

~!Jib Qa:Q1roi Q 6l'Qr!D @L~~!f> cB>l~LJiip>rrrr. Q 6l'~JD L1Gir61fl P-LJ~GlfluSlru @®Jii§I 61'6iJ6l.Jm~ ~IJ~~ru 

@®B;.$1!!)§17 

(A) 2 tE (B) 6 tD 

(C) 7 tE (D) 8 LE 
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193 R1c-h rd 1 fift £'nth from th front m lurnn f boy Th r w re thr1c 

lum th re wer m fr nt How m n b y re th re b tw n Rich rd nd th 

from th nd f th lumn? 

(A) 33 

(B) 34 

35 

(D) 36 

m ny bchmd 

v nth boy 

nl66frl... Grmururr ~® QHflma:uSlw @m @®fef}J 15 6\J{?I J6ul]rre; JBJ!D.$l!Drrrr. ~Ql(!!.i.!6® t5lm. <!Pm 

@®uu6l.Jrre;mlm GT~~Bi61'la;uSlw {Ylm©f LDLri.J® Groowrrw. c91ru®Bi®t.0 Qlrflms:uSlw i.Slm ®®Ji>~ 7-QJ~ 

Jbl!D®l.O fbLI®Bi®l.O @mLC:UJ '1"~~mm JJ>Uri's;GiT 12..Gh'oomr'r? 

(A) 33 

(B) 34 

(C) 35 

(D) 36 

194. If 12 compositors can compose 60 pages of a book in 5 hours, how many compositors will 

compose 200 pages of the book in 20 hours? 

(A) 8 

~ 10 

(C) 12 

(D) 11 

12 ~ifBTBi C:s;rruuQJ rra;GiT, 5 LD~ C:[brr;,~w ~C!!> Ll~~a;~~m 60 uB;a;ri.Je;mm QP~Liurr . 20 LD~ C:Jli'l~t5lw. 

200 u.ia;ri.Js;61'lm QP~.ia; GTP,{h61'>m ~6s;B; C:a;rruururrs;Gh' C:~mQJ? 

(A) 8 

(B) 10 

(C) 12 

(D) 11 
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195. If the length of a rectangle is decreased by 50% and the breadth is increased by 80%, then 
the % change in the area of rectangle is 

....v{ decreased by 10% 

(B) increased by 10% 

(C) decreased by 20% 

(D) increased by 20% 

~® Qs:Q..il@Ja;~~m JBffiLD 50% ~rn6l516:>® @i6f>!D~~L.O. ~a;ru~m~ 80% ~ffi66lii>®t.D ~tbl.sifl8;@.it.D Gurr~ 

~~®J6'6lLUJ Ul}Ut5lru GJrDU@t.D LDfTJD!D~~m S:fb6Sfbt.D 6f6ifr60T? 

(A) 10% @)6f>,(!)l@JIT.S 

(B) 10% ~~a;LDrra; 

(C) 20% @)6f>,(!)6l.HT.S 

(D) 20% ~~.SLDrT.S 

196. The difference between simple and compound interest for a sum of Rs. 5,000 lent at 12% per 

annum in 2 years is 

• 

(A) Rs. 720 

(B) Rs. 12 

t/jlf Rs. 72 

(D) Rs. 700 

®· · 5,000-~m~ ~00@8;@) 12% l@JL!q- 6Sfb~~Q) @r;~© ~oo@a;~B;@) @i~~6f)a; 6lS1LUULLrrru 

fb~l@JL!q- LDrD!J)JLD Bn.L..© l@JLtq_@Q'll@Ja;~8;@) 2-IDGTT Gl@Jwiurr@ ~@)LD. 

(A) ®· 720 

(B) (!9.12 

(C) ®· 72 

(D) ®· 700 
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197 ~'b t 

\ 

(C) 

(A) 

(C) 

nt 

4 13 0 

29 

421.% 
29 

20pm of 5 rup 80 pa1 ? 

1 0 

29 

(D) 5~0o 
29 

(B) 

(D) 

198. A voluntary organization planted a total of 106 trees along the road side. Some of the trees 

were fruit bearing trees. If the number of non-fruit bearing trees was two more than thrice . 
the number of fruit bearing treeR, what was the number of fruit bearing tress planted? 

(A) 20 

(C) 24 

(B) 22 

¢ 26 

~® ~QrQTITrrQI G~rr~@ sf>1wQJQTLD ~® a~filUJ G11>@~8'fTQ)Q)u.Sl~ ~® LIJDrGJ8561f'IWJi.O U)l)rGJ<'bQr JDLLQT. 

,.!91Q.Jd>p5lru 6lro s;Qfi ~®LD LDl]Ti.J8>Qr. s;ml ~rJIT~ U)l)rGJ8561fl~ !OT~6Wfl8;Q>s; s;OOJ ~®LD LDl]"rGJB>IOlfl~ 

!OT~QSl!flB;ms;u.Sl~ ~ml.Pl LDLriJC:a;rr@ @IJ~'"6>L Bfl.Ltq.QTrrQ> QJ(!!iLD. QU)rrP>~L.i:> 106 U)l}"rf.Ja;w JDLUUL@ 

@®.!b~rrQ.i, s;6llll ~®i.0 U)l]"riJs;Qf1~ 10T~6Wf!S;ms; 10T6i.JQ.JmQj? 

(A) 20 

(C) 24 
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199. If "ORIENT" is written as "532146" and "SOUL" is "7598", how will you write "LINE"? 

(A) 9241 

(B) 8341 

.qi( 8241 

(D) 6241 

"ORIENT'' GT6i!TJD Q5rrQ)QJQ) "532146" GT6irr!l)Jl.b "SOUL" GT6i!TJD Q5rrQ)QJQ) "7598" GT6irr!l)JL.O GT(!9~6l!Trrru, 

"LINE" 06i!TJD Q5rr6\>Q>Q) 0uuiq. GT@~ffirra;m? 

(A) 9241 

(B) 8341 

(C) 8241 

(D) 6241 

200. If 7 is related to 56 then 10 is related to 

• 

(A) 74 

(B) 64 

(C) 50 

.glf 90 

(A) 74 

(B) 64 

(C) 50 

(D) 90 
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